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If you choose to say, the ruling is like >'', is it considered ruining
regarding the wound, etc.

OVERVIEW

The X3 is discussing the query whether nawa 75nn2 91w2% Ann if we assume both
that 22r7° >12n 07 (so there is 7987 of 71an) and he is 1207 R (for M¥Y NXITY
7% X37; he has no interest in extracting blood or making a 7712n). If we assume
that the 71957 is like w" that a 1"2nn PRY 927 is N7, it is certainly permitted (since
he is 71201 11°KR); however even if we assume that the 75977 is like > that a 7R 927
1"5nn is MoK, nevertheless here it may be 2 if he is considered to be a 9p%pn
7712r2. Our MdOIN discusses the inference of our X773 regarding the view of w"A.
There are three types of inadvertent acts on naw with different rules.!

AW is one who knows that he is doing a 79%%n (for instance he is harvesting fruit
on N2W); however he either assumes that it is permitted or he is not aware that
today is N2W. A 2 is 2°°17 a DXV 127p.

pPownn is one who intends to do a permissible 719%%7% on Naw (removing grapes from
a cut vine)? but inadvertently does a forbidden 70897 (he removes the grapes from
an uncut vine). He is M5 (only) by naw (except for (°vanI) 7231 according to w'").
1207 18 is where he had no intent of doing any 19897 at all (dragging a chair) and
as a result a 7oX%n (made a furrow) was done. This is 721057 2N according to w"A.

= 11951 PRT 113 1NN NI TN YW PYNY 2393 19N INT S9PUn
It seems (from the flow of the X7n3) that if the m19%7 is like w'' by 11onn R, it
would be permitted nawa n%nna w2 even if he is considered to be a 3pn»
7712172, since he is 39990% PN.

mooIn asks:
= 5991V 299 499X (w1 3,00 M) JIN POV P YNDIVWAT NYP)

!'See 13-11 MR 7"010.

2 See 71 MR 7"'210 that the w5 of PO¥N» in this MdOIN is (even) in a case where X 12177 JNM 77 120A '[11'\?15 1”150

3 The X »3 made the distinction between 7Mama %p%pn (when it is Anm) and 7M2M32 jpnn (when it is MOR) only

according to >"1 who maintains 71207 7°X is 710X (therefore in order for it to be 7N it is necessary to assume that he

is 7Mana 9P%pn); however no such distinction was made when discussing w" (for since he maintains P12nn X is

anIn, it is irrelevant whether he is 1pnn or 771202 HPYPn since he is 1207 PR).

41"7 ruled there that nawa povnn is 1Mo (as opposed to Ny 0°27n2 povnn). X1 asked we find in the case where

there were two children to be 71, one on naw and one on Sunday, and he was 91 the Sunday baby on naw, there is a
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And there is a difficulty; for in the end of %28 P22 79, 1"9 said, according to
w'' -
- 2590 1) POYNN 259N ANANA YPYPM YINI

Since 712m2 Ypbpn is 297, so pPoyn® is also 297, This concludes the citation from the

X73. NBOIN continues with the question -
- $pOYNNM Y9V NN PYNY 2329 VI 1IONN PNT NIV INND)

And why is there this difference, that @''9 exempts 7712172 1on% PR (that it is
anM7) more than 72m2 pPEYNR (where he is 2m)?!

N190IN answers:
- 7nawnm NINYN N PRT DIV NN NIWA 90959 Y DININY 1H19NNY POYNNT 1Y U

And one can say that regarding poyn» where he has intent to do a 1ox%», the
only reason poynn is 7ws on naw (by all MoxY» except for Py H210) is because

POVNA is not considered a nawnn NN -
= 199202 POYNN NYNY 299 29N Y91 DIV

And therefore m=1am2 poyn» (even though it is not a NAWRnM NOXHM) is 2a»n

according to w''" -
- SRAWNN NANYM AT PNT 2 HY N PYNRY 229 29NHNT HNANA YPYPn M-

Just like 771212 Bpbp» is 291 according to @' even though that 72m2 5p%Pn is
not a Nawmm naxYA -
- YoYona 1% 19995 2919
And therefore we ascribe the 21°17 of 7712m2 povnn to 7712M2 Dpbpn -
= NAYNN NINYN 13%¥27 QIVYN NN Nav MOINDN INVAa 1291097 0NNV DYLT OIVN
Because the reason they (PP povnn) are 29we by all the other niax»» of naw

is because we require a nawm Nax8®R (which is a special requirement only for naw) -
= 90950 NAYNM NINDM 1°¥27 DIVN XY NINDINY Y 11951 19INRY DaN

dispute between X"1 (who says 2°1) and yvi° " (who is 7v19). X237 continues that the only reason "1 is 0D is
because he made a mistake doing a mxn; otherwise he would be 211, even though he is a povnn. 1"7 answered that
regarding 21 since 2P%pn is 270 (as " maintains) therefore povnn is also 2»n [by (7°¥am) 22in only]. See
‘Thinking it over’ # 2.
5 "3 maintains Pyam H2mn YN PN0D PRRRPRR 93 (since by vam 921 the nature of the 7oX97 is 91p9p). See naw
X,
6 [See ‘Overview’.] Just as the X923 in NN says 27 71 POYNA 20 7M2M2 7p2pn1 X1, we should also say X
2911911 11207 PR 20 7202 2p%pn (for poynn is similar to 11907 1R). Why is there a difference?!
7 nawnn nax7m means a thoughtful (thought out) action. There is intent to do this 7ox7%. We derive the naxon of naw
from the M>2R>n in the 19wn which are called nawnn nax?x. See footnote # 8.
8 Ruining something (for the sake of ruining) cannot be considered a thoughtful or thought out action (in the manner
of the Max?n in the 1own which were a nawnn NaRYn). See footnote # 7. See (also) X?X 73"7 2,3 7¥°2 >"w1 who writes:
2°N2 N2WAR NIRYA ONM 2APNM2 1w NORYAY 12w NWHD 9703w 77N 70K NUAIN NORYA R NAWnn NOXYA naws.
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However where has no intent at all of doing a 7728%% (the case of 1120 PR) he is

not 7ws because we require Nawnn NORH -
- 11901 PR 09 593 MNP INVA NNT

For in other instances (not N2¥) Man» PN is also 7wo -
— n mvn v pas DN) 999D 11N NIV 72929 19973 129910 1D 292117 OINYI 220 1)

For instance regarding wearing (711uyw) @%893, where the miwn teaches us that the
sellers of garments sell in the usual manner (where they place it on their

shoulders, so that they are wearing 11uyw), provided that they have no intent, etc.
of deriving benefit (keeping warm or dry) from the garments they are wearing. Their only intent
is to show off their wares. We see that 12071 "X is a universal M5, which is not limited to N2WY as
nawnn NoRoN is —

moo1n offers another example of 72 1"12n% PR by other 2°10°X (not by NIW):

$99Y 2193 N199ANA 79991 (x,an 97 1) 291 DADOMI 9N 991 9133 I
And we also learnt in a mw» that 951 may shampoo and brush his hair, etc.
even though that by brushing his hair some hair may fall out (since has no intent of
cutting his hair; he is 71201 1°X regarding cutting the hair), therefore since the M5
of 1™2nn X is universal and not limited to n2w like povnn, it is permitted even by
719921 (even according to w"9 who maintains 771272 POYNM 2p%pn is 2°0).

SUMMARY
107 PR is a N by all 2°0°KR, while povnm HP%pn is a Mwd only by naw noRYA.

THINKING IT OVER
1. What changed (regarding povnn) in the answer of mdoIn compared to what
Moo assumed in his question?!?

2. Is the case of the two children to be »,!! considered =Tnm wY2n7 TINAY 7503
N2 or MR NN TAMY T MR PIAAR 1101212

¥ We can say 211 *21 poynn 20 2p%pm1 X7 since their Mwd is only on account of nNawnn nax%n (which is limited to
naw nKM), however the 707 of 11301 PR is by all o™ Mo°K, therefore it applies even to 7°vam 5211 and we cannot
compare 1207 PR to 2p%pn (and poynn).
10 See 31 NX 7"010.
' See footnote # 4 (and # 2).
12 See m> mX o 1y°w y21p and 71 NIX 77210,
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